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1)Calcule os limites:

a)lim (45% — Tx+ 5) D e bt O)lim | 23X ~2% 73
sl ai i R G 12| —x" +3x+4

) lim 22 4353 ) lim 3\/3:( —5%2 —x+3 £)lim N2x? +3x+2
x—+-1 S5x—4 x—-2 4x+3 x—2 6—4x

Resp.: a) 2 b) 0 c) 1/8 d) 2/3 9)3\/? F) =2

2) Calcule os limites abaixo:

2) x° -1 b) tim 4—x o 231+5x—3
=1 x —1 x>-2 24 x =14 2x 7 —5x + 2
. oxT -1 Bt . x°—-3x’+6x-4
ety x1 2 i +x1 ﬂhan3 x1+ X
=>1x® 1 x>-24_—x° x>1g” —4x° +8x -5
Resp.: a)2 b) 4 c)—T7/3 d)3/2 e)3 N1
3) Calcule:
Jx -1 2x+ 3 1-—3x
a) ki _ b)lim —— c)im ——
r— 2 (x_z}‘ x—>1(1’_]}‘ x—>1(x_]}‘
2 _ X+ 4 1- 2x
d) tm 3x 5_‘x+2 e) lim f) lim
= 0 x- 1= -2 x + 2 x=>3 x — 3
) lim : h) Gm :
£ x=+1]1— x x=+1 x — 1

Resp .: a)+x b)+wo c¢)-o d)+o e)F f)Z g)7¥ hn3ZA
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I) Seja f a fungao cujo grafico aparece abaixo.

Determine:
1) Dom f 2)Im f 3) lim f(x) 4) lim f(x)
x->0 x- >5
5) lim f(x) 6) lim f(x) 7) lim f(x) 8) lim f(x)
X=> -5 x->-10 X->+ X-> -
Resposta:

1) R-{-5} 2)R 3)3 4)+ 5)NE 6) 3 7)3 g)- ©




